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1.	 When written in words, 809 is same is –––––.
	 (A)	 Eighty and nine		
	 (B)	 Eight hundred and nine
	 (C)	 Eight hundred ninety	
	 (D)	 Eight zero and nine
	 (E)	 None of these

2.	 Arrange the numbers stars to make the smallest possible three digit number.

	 (A)	 789				    (B)	 978
	 (C)	 879				    (D)	 987
	 (E)	 None of these

3.	 What number should be placed in  to make the number sentence true?

	 (A)	 475		
	 (B)	 583		
	 (C)	 472		
	 (D)	 589
	 (E)	 None of these

4.	 Amisha bought 11 fruits. Out of which 4 are apples and 3 are pears. Rest are oranges.  
	 What fraction of fruits are oranges?

	 (A)	
4

11 				    (B)	
3

11

	 (C)	 1
11

				    (D)	 5
11

	 (E)	 None of these
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5.	 In which figure does the shaded part represent 
1
3

?

	 (A)	 				    (B)	

	 (C)	 				    (D)	

	 (E)	 None of these

6.	 If  ÷ 5 = 5 × 5, then  is equal to
	 (A)	 25				    (B)	 60
	 (C)	 75				    (D)	 175
	 (E)	 None of these

7.
	

+ + = 300 g. So =

	 (A)	 100 g				   (B)	 200 g
	 (C)	 150 g				   (D)	 250 g
	 (E)	 None of these

8.	 Which of the following sets of coins gives `1?

	 (A)	 				    (B)	

	 (C)	 				    (D)	

	 (E)	 None of these

9.	 Mr. and Mrs. Kapoor went to a zoo with their 10 year old son, 7 year old daughter  
	 and a 2 year old son. What is their total expenditure on tickets ?
	 (A)	 `21				    (B)	 `31
	 (C)	 `25.50			   (D)	 `32
	 (E)	 None of these

25 p 25 p 25 p 25 p 25 p

20 p 20 p 20 p 20 p 20 p 10 p 10 p

ENTRANCE FEE
Adult: ` 10
Child (Under 12): ̀  5.50
Child (Under 3): Free
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10.	A bucket can be filled by 3 measuring cylinders as shown. How much water can the  
	 bucket hold ?
	 (A)	 14 litres
	 (B)	 17 litres
	 (C)	 13 litres
	 (D)	 10 litres
	 (E)	 None of these

11.	My watch shows 7:30 am. It is 20 minutes slow. The correct time is –––––––.
	 (A)	 7:50 am			   (B)	 7:20 am
	 (C)	 7:35 am			   (D)	 7:10 am
	 (E)	 None of these

12.	Manisha was born on 29th  February. Her birthday comes
	 (A)	 Every year			   (B)	 Twice in a year
	 (C)	 After every four years		  (D)	 After every two years
	 (E)	 None of these

13.	How many squares are there in the given figure ?
	 (A)	 5				    (B)	 4
	 (C)	 6				    (D)	 3
	 (E)	 None of these

14.	How many bricks are there in the given figure ?
	 (A)	 4				    (B)	 8
	 (C)	 16				    (D)	 20
	 (E)	 None of these

15.	

	 (A)	 				    (B)	

	 (C)	 				    (D)	

	 (E)	 None of these

Bucket 1 litres 3 litres 10 litres

=

................
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16.
	

	 (A)					     (B)	

	 (C)					     (D)	

	 (E)	 None of these

17.	If stands for 27 apples, then 2 such groups stands for –––– apples.
	 (A)	 9				    (B)	 3
	 (C)	 27				    (D)	 54
	 (E)	 None of these

18.	Each  stands for 5 candles, then  stands for ––––– candles.
	 (A)	 5				    (B)	 10
	 (C)	 15				    (D)	 20
	 (E)	 None of these

19.	How many straight lines does the figure has ?
	 (A)	 10				    (B)	 12
	 (C)	 13				    (D)	 15
	 (E)	 None of these

20.	Which doll is 4th to the left of 3rd doll from right side ?
	 (A)	 P
	 (B)	 U
	 (C)	 R
	 (D)	 Q
	 (E)	 None of these

21.	Sweety saw a top she liked in a shop window. It costs ̀ 475 but Sweety had saved only  
	 `370. How much more had she saved before she could buy the top?
	 (A)	 `175		   
	 (B)	 `95
	 (C)	 `100		   
	 (D)	 `105
	 (E)	 None of these
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22.	Find the fish from the options which is same as the given fish.

	 (a)					     (B)	

	 (C)					     (D)	
	 (E)	 None of these

23.	Rajat starts his Maths exam practice from 1st December 20XX. If he practices for15  
	 days, his practice finishes on –––.
	 (A)	 Friday

	 (B)	 Thursday

	 (C)	 Saturday

	 (D)	 Wednesday
	 (E)	 None of these

24.	Select the odd one out.

	 (A)					     (B)	

	 (C)					     (D)	

	 (E)	 None of these

25.	Which of the following is the lightest in weight?

	 (A)					     (B)	

	 (C)					     (D)	
	 (E)	 None of these

December – 20XX
S M T W T F S

1 2 3
4 5 6 7 8 9 10

11 12 13 14 15 16 17
18 19 20 21 22 23 24
25 26 27 28 29 30 31
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26.	Find the missing number.

	 (A)	 16			 
	 (B)	 12
	 (C)	 17			 
	 (D)	 13
	 (E)	 None of these

27.	If Meenu rotates the wheel, which alphabet will most likely come ?
	 (A)	 P				  
	 (B)	 Q
	 (C)	 R				  
	 (D)	 PP
	 (E)	 None of these

28.	Which figure does not belong to the other three in the group of four figures?
	 (A)	 P
	 (B)	 Q
	 (C)	 R
	 (D)	 S
	 (E)	 None of these

29.	Which figure comes next in the figure pattern below?

	 (A)	 				    (B)	

	 (C)					     (d)	

	 (E)	 None of these

5 3 6

4 7 36 2 2

2 10 5
17 22 ?

P Q
R
P

RR
Q
R

P Q R S

♥ ♥ ?

♥



7

Class – 2

30.	If today is Friday, then what day was just before yesterday ?
	 (A)	 Thursday			   (B)	 Wednesday
	 (C)	 Tuesday			   (D)	 Monday
	 (E)	 None of these

Darken your choice with HB Pencil
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Note: The actual Question Paper will translated in Hindi at the time of exam.




